_[ub/GeV]
2

do/dp
2,

Ratio to ATLAS

=
o
(6]

=
o
N

10

[EEY

0.5

p. [GeV]

7000 GeV pp. bb

= I T I T | T I T I T I T I T |E 9
— ] %
| p'T (atlas2011-mu-2.5) =
= 9=
= =N
- —lm
- =
- mfe}
—
= =
= o
— 1o
_— — =
= =~

— - =

= | —

= L. =

[ & I
- - Bl Iy
= .. =M
— [ | 3<
— I \;l M
_ i g
= W ATLAS [Tpd(NE 4 =0
—  —a— Pythia 8.308 defality— ZE
= ---*-- Pythia 8.308 tune-AD2 " =5
— - <-- Pythia 8.308 {une-AU2lox = - 1<
= --0-- Pythia 8.308 fune-AU2loxX B Sc
— —~— Pythia 8.308 tune-AU2m 58
1 (/)
= : =09
— . = o
— : e
— | | | | | | | F
— —2
; l 1

i T ]

_ H :

o
- Eyg ) Pl e n
% I & S
— . %&@i \LJF i i“\ /f\ ] 05
% L |l| E:' 1 "l I ; : : “ 1 ¢ . 1 1 n 1 n I n |
0 50 100



	Contents
	Page 1


